& YAMAHA

ATTACHMENT
ATTACHE
PIYIYFRAI b

AT-800

E E ﬂ m sprsEpeN m m “ m w m




e (w2/1-8)
m “/, ................ wwesie W
g Ly
e 3 |
o _ g
! _ .
! _ ~5
“ m O (o) —L_\\\>
]
o I Rl E
| I
=z + B
) |
]
zEE . : o
T P Aﬂ S ! | <
W< 5B Iz - £ o . )
m 2 Mnlm. ! £ - Q
< NN H0 L m | : :
< L XIm oo B : 1 U
! h m m
! :
_ | (o] o
“ " o R T
! ) o
| " '
L
L
A it i
L o : |
“\ | -1
e M =
‘ T — i
p-d (u/1-2) ww €81 -= B |
N n_._m . (,8/2-8) ww /22 -
222 % 2 )
o O N N \\ |||||||||||||||||||| mmll
0290 o =% m
DHLEG o \ : Hzm
220522 \ i .
Pozz S T E]
Www=rFuw \ i
duspgd \ <
== n<== CoooToTT = &
[0; [ E— g | E-
||||||||||||||||| i o
|||||||||||||||||||||| L. o2
IIIIIIIIIII A
||||||||| _\\\\\\\\\\\\\\



ATTACHMENT

AT-800

Owner’s Manual

Thank you for selecting this Yamaha product. Be sure to read this manual thoroughly before using this product.

After you have read this manual, retain it for future reference.

* For information on the dimensions of the Attachment, please refer to page i (back of the cover page).

SAFETY INSTRUCTIONS

Always follow the instructions set forth in this manual when installing the audio unit using this
Attachment.

Insufficiently secure installation or insecure Attachment could cause the audio unit to fall, resulting in personal injury.
 Install the audio unit so that it will withstand extended use and will not fall due to vibrations caused by earthquakes or children.

* To ensure safety, all screws must be tightened securely.

¢ Never hang from the audio unit or the Attachment.

Once the audio unit is installed, safety checks should be conducted on a regular basis.

If the audio unit is used over an extended period of time, screws can become loose and the installation can become
weaker due to the passage of time, vibrations, etc.

Yamaha is not responsible for any accident or personal injury caused by a falling audio unit, nor for
damage to a wall caused by inappropriate wall conditions or inadequate installation.

Make sure to leave adequate ventilation space around the unit to allow heat generated by the audio
unit to dissipate.
Failure to provide adequate space around the unit could cause the audio unit to overheat internally, resulting in a fire.

Install the audio unit in a location where the unit’s buttons will be easily accessible. Leave enough
space around the unit so that you can easily insert a CD or connect a USB device, or iPod, etc. to the
unit.

iPod CD

USB
©

s

1En

ysibuz



PACKAGE CONTENTS

Make sure the package contains the following items.
Attachment (AT-800)

Safety wire (x2) Have the following items ready in addition:

* Commercially available tapping screws (x4)

(6 mm (1/4") , 31 mm (1-1/4") or more in
K_' ) length, 7 mm (1/4") or more in screw head
diameter)
Length: 300 mm M4 screws that came with the audio unit (x4)
(11-3/47) (If the screws are being used to mount the
audio unit on a dedicated stand, remove the
Washer (x2) screws.)
e Phillips (+) screwdriver
@ (Do not use electric tools.)

(for M6, 16 mm (5/8")
of outer diameter)

ASSEMBLING PROCEDURE

Make sure that you leave adequate ventilation space around the unit and follow the instructions below. Be sure to use the
specified mounting screws for installation to prevent the audio unit from falling. Illustrations for each step use the ISX-800.

Attaching the screws to the wall

1 Use the template on the back cover to mark screw positions on the wall with a pin.

s B

2 Remove the template, and then attach commercially-available tapping screws (66 mm
(1/4")) in the marked positions.

To prevent the wall surface from being damaged, drill pilot holes, then attach the screws.

200 mm (7-7/8")

. | 3
I25 mm (1") or more 537@
} =
(1/4 ?runm (1/4") or more
~ S
| Notes |

¢ Choose a secure wall or beam to fasten the screws. Do not install them into walls made of weak material that can easily come off,
such as mortar or plywood wall panels. Loose screws could cause the audio unit to fall, resulting in personal injury.

¢ Do not use screws shorter than the specified length, nails, or double-sided adhesive tape. Otherwise, the audio unit may fall due
to wear or vibration, possibly resulting in personal injury.

2 En



Installing the Attachment on the audio unit

1 Remove the rear cover and terminal cover from the audio unit.

If the audio unit has been mounted on a dedicated %
stand, remove the stand. Also, remove the power E T ?
cable, antenna and/or external devices. Terminal cover %) % f | T
Four M4 screws that you remove from the stand i T T/\<l | (|
: : — | |
will be used in Step 3. R ! 1 I/|>/ b Rear cover
<

| Note |
Spread a soft cloth under the audio unit to avoid any
damage to the audio unit or work surface.

For more information, refer to the Assembly Guide
for the ISX-800.

The rear cover and the screws you
removed from the rear cover will not
be used to install the Attachment.
Keep them in a safe place.

2 Connect the power cable, antenna and/or external devices.

Pass the cables through a hole in the bottom of the Attachment, then connect them to the audio unit.
After connecting the cables, replace the terminal cover.

3 Install the Attachment on the audio unit.

Attach four M4 screws that came with the audio E)
unit (for attaching the stand to the audio unit). |
Do not tighten the screws using excessive force. |
Do not use electric tools. |
I
I

[Notes ] =
* Be careful not to pinch the cables between the

Attachment and audio unit.

* Make sure that you identify the screws for the rear
cover and the screws for the stand correctly.

* If you tighten the screws on a slant, the screw
threads in the audio unit might break.

3 En

ysibuz



Installing the audio unit on the wall

1 Attach the safety wires to the Attachment.

Attach the safety wires as =
shown in the figure on the — ) 9
right. (T ¢ Safety wire

Slip one end through
the loop at the other
end

2 Installing the audio unit on the wall.

Hang the audio unit by hooking the mounting
holes on the upper part of the Attachment onto

the screws in the wall.

3 Attach the safety wires to the wall.

Pass the screws (commercially
available) through the washers

(supplied), and then through the loops Washer
on the end of the safety wires, and (supplied) | .
tighten the screws into the wall to (\-5) """
secure the safety wires while o=
removing any slack of the wires. Screw

(96 mm;
| Notes | commercially

* Make sure that the screws are strong  available)
enough to bear the weight of the audio
unit and the Attachment in case they
fall.

* Choose a secure wall or beam to fasten ) —]
the screws.

« After installation is complete, make sure that the audio unit is securely affixed. Yamaha is not responsible for any accident
caused by inappropriate wall conditions or inadequate installation.

¢ Be sure to secure the cables so that they will not be caught by feet or hands, possibly causing the audio unit to fall.

4 En



Ll

200 mm (7-7/8")

\

© 2011 Yamaha Corporation

€YAMAHA

YAMAHA CORPORATION
Printed in China WZ39290



	DIMENSIONS
	SAFETY INSTRUCTIONS
	PACKAGE CONTENTS
	ASSEMBLING PROCEDURE
	Attaching the screws to the wall
	Installing the Attachment on the audio unit
	Installing the audio unit on the wall




